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Draw a picture to help you complete each of these sentences.

L+ baskets with 5 apples

3 plates with 6 biscuits
in each basket

on each plate

=

>

3 plates of 6 is : L baskets of 5 is
2 bunches with 5 bananas 3 jars with 7 marbles
in each bunch in each jar

2 bunches of 5 is : 3jarsof 7 is

2. Write a multiplication story to match each picture.
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a.

[E[%‘ Write your own multiplication story using k and 6. 60 Maths ACE Year 2 Unit 12.1
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Draw a picture to match the story. Then write the answer.

a. b.
5 books on each shelf 7 books on each shelf
3 shelves 2 shelves
3 rows of 5 is . 2 rows of 7 is

C. d.
b books on each shelf L books on each shelf
L shelves 3 shelves
L rows of b is . 3 rows of L is

Write a number story to match the picture.

a. ~——

S——T—— T T b.
COPAN] RCONAN [RCOEAN IRCOEA

——— T —— ——
CORAS] NCOEAN | RCOEAS |RCOLA

GO Maths ACE Year 2 Unit 12.2

Draw 5 bookshelves. Draw the same number of books on
[E[; each shelf. Then complete this sentence: 5 rows of ___is ____
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. Look at each picture. Then write the answers.

qa. b.

e e s
e

3 rows of 5 donuts is

2x3= 3x5=

2 rows of L bottles is : 3 rows of L cups is

ZXLI-: 3)('-{.:

2. Draw pictures to fill each container. Then write the answers.

a. b.
2 rows of b eggs is 3 rows of Lk muffins is
2x b= 3xh=
C. d.
| BISCUITS
3 rows of 3 chocolates is . | row of 10 biscuits is
3x3= | x 10 =

Arrange 18 counters in equal rows. Write a matching multiplication

5L|' [E[; sentence. Rearrange the counters and write a different sentence. S e e
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Draw rows of dots to help you complete each of these. Then write the answer.

a. b.
5x 3= 3x b=

Qe Draw the

/dots herel!

Lx /= SxL =

Complete each number sentence and then draw rows of dots to match.
There is more than one way to complete each of these.
a. b.

X =12 X 2L

; Arrange 3b counters in equal rows. Write a matching multiplication
60 Maths ACE Year 2 Unit 12.4 FE o
sentence. Then rearrange the counters and write a different sentence.
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Complete the number fact for each picture. Then write the turnaround fact.

a. b. C.
L x5 = 3x /= 5x 6=
00000
::::: 000000 eo0000O0
000600 000000 000000
000060 e0e00000 eo0000O0
00000
X = X = % —
d e. f
L|-X8= 3)(6: 5)(q=
o000 000O0CO0
:::::::: o000 0o0 eo000000O0O0
000060060660 00000 o000 00O0C0O0CO0
00000 o000 000O0CO0
°

Draw a picture to show the number fact. Then write the turnaround fact.

a. b. C.
L x b= 3x5= 5x7=

Write as many different multiplication facts as you can
\__ﬁ? G0 Maths ACE Year 2 Unit 12.5

that have 2L as the answer, such as 2l = 8 x 3.
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